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2024 PRIMARY 4 WEIGHTED ASSESSMENT 1

Nome: ( ) Dote:30 April2024

Durotion:45 minut_es

Morks: I 30

Closs:Primory4( )

Porent's Signolure

MATHEMATICS

INSTRUCTIONS TO CANDIDATES

L Write your nome, closs <rnd register number.

2. Do not turn over this poge untilyou ore told to do so.

3. Followollinstructionscorefully.

4. Answerollquesiions.

5. Use o dork blue or block bollpoint pen to write your onswers in the

spoce provided for eoch question.

6. Do not use correction fluid/tope or highlighters on ony port of your

onswers.



I

Seclion A
Short Answer Questlons
Questions 1 to l5 corry I mork eoch. Write your onswers in ihe boxes provided.
For questions which require unils, give your onswers in the units stoted.

[15 morksl

l. Write seventy thousond, four hundred ond four in number

2. Some foctors of 28 ore 1,2,7 ond 28. Whot ore the other foctors?

and

3. There were 30 429 Singoporeqn bobies born two yeors ogo. Round ihis

number to the neorest thousond.

4. Anonge the following digits to form the smollest S-digit odd number.

8, 5, 2, 7, 0
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5. Complete the following number pottern.

72550. ,74 s50,75 ss0,76 ss]

6. Whol is the missing number in lhe box?

B
4!=I

L27. Express ; in its simplest form'72

8, Arronge the following froclions in increosing order

.1 2 5l-
'L2' 3' +
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9 Write on equivolent froctio n rc, 
f, 

.

r0. I om o 4-digit number. I om 4210 when rounded to the neorest ten.

The sum of my digits is 10. Whot number om l?

il. This 2-digit number is smoller thon 60. lt is o common multiple of 4 ond 5.

The sum of the two digits is 9. Whot is the number?
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The toble below shows the fovourite ice creom flovours os voted by the
students in Closs 3A. Study the loble ond onswer Queslions l2 ond .l3.

Flovour of ice creom Number of sludents
Chocolote 12
Vonillo 9
Strowberry II
Coconul ?

Iotol 39

12. . How mony sludents like coconut ice creom?

13. Whot froction of the students in Closs 3A like chocolote ice creom?
Give your onswer in the simplest form.

14. Mr Bolo hod o boltle of milk. He dronk ] ot f he milk in the morning ond

L

; of the milk in the ofternoon. Whot froction of the milk did he drink

oltogether? Give your onswer in its simplest form.
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15. A roll of ribbon wos I m long. Somuel useO I m io tie o box ond gove
I

some ribbon to his sister. He hod 1 m of ribbon left. How much ribbon
3

did he give his sister?

m
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Sectlon B

Questions l6 to 20 corry 3 morks eoch.
Show oll your workings ond stotements cleorly [15 morksl

16. Dovid jogs 3250 m every morning ond 2320 m every evening.

o) How mony metres does Dovid jog in o doy?

Dovid jogs

Ans:

b) Whot is the totol distonce thot Dovid jogs in o Z-doy week?

Dovid jogs

Ans:

17. Josie decoroted the room with red ond blue lights. The red light blinked

every 3 minutes ond the blue lighl blinked every 5 minutes. Both red

ond blue lights were turned on of the some time. After how mony

minutes did both the lights blink together for the 3ra time?

The lights blinked together for the 3rd time ofler

Ans
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IB The line groph shows the soles of stotionery during o

live sole.

5000

4000

3000

z)nouronline

Amount of
money ($)

2000

0

1000

7 p.m. 7.30 p.m, 8 p.m. 8,30 p.m. 9 p.m.

Time

9.30 p.m.

o) Whot wos the omounl of money eorned of 8.30 p.m.?

Ans o)

b) Whot wos the difference in soles from 2.30 p.m. to B p.m.?

Ans b)

c) ln which holf-hour period did the soles decreose lhe mosl?

-/ \
\
\
\
\
\

Ans c): From to
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19. George boughl36 boxes of oronges. There were 28 oronges in eoch

box. Some of the oronges were rotten.

o) After George threw l8 rotten oronges owoy, how mony oronges

were left?

George hod

Ans:

b) George wonted to pock the remoining oronges into pocks of 7.

How mony oronges would be left unpocked of the end?

There were

Ans:
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20.
7L

At o funfot,7-ot the peopl'e were children, I of the people were

women ond the rest were men.

o) Whot froction of the people were men?
Give your onswer in the simplest form.

of the people were men .

Ans

b)There were 20 more women thon men of the funfoir.
Find the totol number of people of the funfoir.

There were

Ans:

End of Poper

9



SCHOOL :

LEVEL :

SUBJECT :

TERM :

CONTACT :

TAO NAN SCHOOL
PRIMARY 4
MATH
2024 WAI

a1) 70404

o2) 4 and 14

03) 30000

o4) 20587 ffi
ffi#s' W ds'

a5) 73550 -s#ffi#9,
06) 37

a7) L

l0EfTE(TDnPEP rrar]r
08) 3IX.nh r nr I r rrr -rrrt!5rrrzt-r2t4

#* *, s*s ,* 6r & ** drd i*.& d&*,F &

ae) I
G

pe"e,"S, # # &.4.K/ffi/ 
ffi" 

*W"&;/&/*..P

410) 4213

011) 36

Q12) 7 students

Q13) 4

13

Q14) 2
;J

d%%
415) 4

4
-m/w,mgffi

016) a)3250+2320=5570

$TPAPtR.rom
Do1

https://freetestpaper.com/


Q17) 45 minutes

418) a)$4500
b)$soo
c)From9 p.m. to 9.30 p.m.

Q1s) a)36x28=1008
1008-18=990
George had 990 oranges

b)990+7=141 R3
There were 3 oranges left

Q20 a\J-+r/r:L+':'o't2 72 t2 72

12102
t2 t2 72

1

6

I of the people were men.

b)1 unit 20
12 units = 20 x 12 = 240
There were 240 people.
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